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struct sockaddr_un {
short sun_family; /% AF_UNIX */
char sun_path[108]; /* pathname */
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struct sockaddr in {
short sin_family; * AF_INET */

* Port Number */

* IP Address */

* Padding */

u_short sin_port;
struct in _addr sin addr;
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char sin_zero[8];

};

struct in_addr {
u_long s_addr;

};
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struct sockaddr {
u_short sa_family; /* AF_UNIX, AF _INET, ... ... */

char sa _data[14]:
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struct sockaddr_in addr; /% olE Yl 4 A AR s Aol v/

addr.sin_family = AF_INET;

addr.sin_addr.s_addr = htonT(INADDR_ANY); /* IP F4&*/
addr.sin_port = htons(5010); J* HE WG %/
bind(socket, (struct sockaddr *)&addr, sizeof(addr));
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» s = socket (int domain, int type, int protocol)
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» bind (int s, struct sockaddr *name, socklen_t *namelen)
s/t 7t2|7|= 2200 22 =425 20
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» listen (int s, int backlog)

275 gd=t A G

» accept (int s, struct sockaddr *addr, socklen_t *addrlen)
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» connect (int s, struct sockaddr *name, socklen_t namelen)
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»send (int s, void *msg, size_t len, int flags)
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» recv (int s, void *buf, size_t len, int flags)
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